CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3

Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with ¥ icom are correct.

2.Options shown in red color and with # icon are incorrect.

Subject Name: CAT 1 Steno Typist English CET Exam
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 1 Steno Typist English CET Exarn
Group Marks: 200

CAT 1 Steno Typist English CBET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 6272891 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Which administrative unit was present-day Haryana a part of during the revolt of 18577

Options:
, w Bengal Presidency

- w Bombay Presidency

= « North West Provinces

4 % United Provinces

Question Number : 1 Question Id : 6272891 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical
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o= 1857 & g & eka #ilF @1 vanafas sos goa= o & BFwar ar

Options:

5  3cdl 9REH 9d

Question Number : 2 Question Id : 6272892 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Haryana was formed on:

Options:

. w 1 September 1966

> % 1% October 1966
3 o 15t November 1966

4 % 15 December 1966

Question Number : 2 Question Id : 6272892 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

o =T #F T F9 AT Tar are
Options:

. = 1 faaFsT 1966

, w1 3EET 1966

-« 1 FIT 1966

4 » 1 fegsT 1966

Question Number : 3 Question Id : 6272893 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

When did Haryana come under the rule of the British East India Company?

Options:
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, « 1803
> % 1805
5 % 1832

4 % 1833

Question Number : 3 Question Id : 6272893 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

g Bfer sve sfEar 9T & awa F 389 F9 T o9
Options:

| v 1803

. = 1805
5w 1832

4 % 1833

Question Number : 4 Question Id : 6272894 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

In Vedic literature, the region between the Saraswati and Drishdawati rivers was known as:

Options:

| % Aryavarta

- « Brahmavarta

- % Madhya Desha

4 % Valhika Desha

Question Number : 4 Question Id : 6272894 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

e arfgcm &, Teadr 3R Tveadr ATl & &9 & &9 & 57 A7 ¥ AT F1dr O
Options:

1&%3'”-&5'37;[
, » SEATA
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5 % HET oY

4 B méﬁr

Question Number : 5 Question Id : 6272895 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

In the financial year 2016-17, contribution of the tertiary sector to the GSVA (Gross State Value Added) in Haryana was
approximately:

Options:
1 o 51.7%

> % 80.1%

Question Number : 5 Question Id : 6272895 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

foeda aw 2016-17 &, gRamon & AT o7 & 3@ 1 GSVA (Fd Ted H3d IUw) H IRE

SIS e ar?
Options:

| v 51.7%

, % 80.1%
2 % 21.3%

. = 10.8%

Question Number : 6 Question Id : 6272896 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

The 31 Surajkund International Crafts Mela was held in

Options:
1 % Karnal

- % Sonipat

5 % Gurugram
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4 « Faridabad

Question Number : 6 Question Id : 6272896 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

3187 Yreips Hawserd e Aer # yrfaa faar amar e

Options:
1. % ehldTel

zlwm

Question Number : 7 Question Id : 6272897 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Who among the following was recently appointed as Director General of Police for Haryana?

Options:

, » KPSingh

> « B S Sandhu
= # KPS Gill

4 % PS5 Verma

Question Number : 7 Question Id : 6272897 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

g & 7 fasafaf@a & & fosmer g gfow mafaters & & &7 g G g

Options:

1% #tﬁﬁﬁg

, o T TH /Y

2 R mﬁ'ﬂ

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3

Question Number : 8 Question Id : 6272898 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

As per the report published in Quarter 4 of 2016, Haryana ranks in the country in “Ease of doing business™.
Options:

1 ﬁth

Question Number : 8 Question Id : 6272898 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

T 2016 Fr =il AR (@A 4) 7 vemg REE & 38R, Ao & & # ‘@R # JEE aw
U= A T gl

Options:

1. ¢ Bol

5 % OTEET
S_HW

4_&-‘3#'@

Question Number : 9 Question Id : 6272899 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Which of the following poets is also a cricket coach?

Options:
1 % Chander Lal
- % Shrikrishna Gotan Manjar

5 « Narendra Gulia

4, % Satyavir Nahadiya

Question Number : 9 Question Id : 6272899 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Taeaa &9 # @ 39 = Fee = i 2

Options:
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, o AT T
=tz e
\ « ETd gt

Question Number : 10 Question Id : 62728910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following poets/poetesses is also a Doctor of Medicine?

Options:
, » Narendra Guliya

-  Shyam Sakha Shyam

= % Asha Khatri ‘Lata’

4 % Vinod Mehra Bechain

Question Number : 10 Question Id : 62728910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frfafae sy & ¢ #i7 v aglaae s (s e a3ftfae) o 32
Options:

|, 7

>« TH |ET TH
5 % 3RIT S ‘Fdr

Question Number : 11 Question Id : 62728911 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following authors has played a role in a recent film *Dangal’?
Options:

, w Sandip Kanwal Bhurtana
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-  Jagbir Rathee
= % Viren Sanwadia

4% Rohit Kumar “Happy’

Question Number : 11 Question Id : 62728911 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fr=fofea & & 5w ows & ga & 7 31 frer S 7 v& ffe s o
Options:
[ T Fad EREAT )

zlgmm
-~ Ufea FARX Fer

Question Number : 12 Question Id : 62728912 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The total area of Haryana is:

Options:

; % 40,252sq.km

> % 42,512s¢. km

5 o 44,212 59. km

4 ® 47,712s5q. km

Question Number : 12 Question Id : 62728912 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A0 &7 Fel &TFA ¢

Options:

. » 40,252 Fr fRey

o » 42,512 = faaT
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- v 44,212 T AT

L % 47,712 39 foAT

Question Number : 13 Question Id : 62728913 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

There are districts in Haryana.
Options:
1.« 22

> % 25

Question Number : 13 Question Id : 62728913 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g # et #1
Options:

1 v 22
o> R 25
=z R 28

g4 #® 31

Question Number : 14 Question Id : 62728914 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As of 2010-11 according to the Government, per capita income of Haryana at current prices was rupees.
Options:
| % 89.216
- % 90,547

92327

=

L, # 94813
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Question Number : 14 Question Id : 62728914 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

a§ 2010-11 & F&d TFR F HJBN, TAAW HAar 9 ghamon @ gfa safea s TIT o)

Options:

| » 89,216
. 90,547
- v 92,327

, % 94,813

Question Number : 15 Question Id : 62728915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the latest amendments in the Haryana Panchavati Raj Act, 1994, which of the following is NOT
mandatory for candidates fighting panchayat elections?

Options:
, w Tohave basic educational qualification

- % To have functional toilets at home

= « To have at least one bank account in his/her name

4 %
To ensure that they have cleared their outstanding dues of rural domestic electricity connections

Question Number : 15 Question Id : 62728915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g T=raer T wfafaTs, 1994 F Fdwan FAYE F AR, T=EEd AT o3 @ Fea vt F o
=T 7 ¥ =9 o1 3faed 387 §2
Options:

T AeTfOres TTaar g

1 =%

. % W W FEcHS M=reT g

2 » SHFHSER ATH F HH § FH U e ST gl

4 %

T gAaa F &5 3 o e el daeRE & 379 ST oF AR 6 A Y AT 7
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Question Number : 16 Question Id : 62728916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Dalits are approximately of the total Haryana population of 2.5 crore.

Options:
1 ® 18%%

5 o 20%

Question Number : 16 Question Id : 62728916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ghamoT T Fo FFEEr 2.5 FUs A gfod gl

Options:

% 18%

- & 20%
2 % 23%

4 % 25%

Question Number : 17 Question Id : 62728917 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following districts is not in the Rohtak administrative division?
Options:

1 % Bhiwani

> % Jhajjar

- % Sonipat

4  Panipat

Question Number : 17 Question Id : 62728917 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fafefea Te # @ i O Ugas nafas T696 & F780 87

Options:
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1 #® ﬁﬁ'l?ﬁ'
o B 3IEEEI
= m

Question Number : 18 Question Id : 62728918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

On 12 September 2014, the Election Commission announced Harvana's Legislative Assembly election under Article
324 and 172(1) of the Constitution of India and Section of The Representation of the People Act, 1951.

Options:
1 #® 14

o o 15
= W 16

g *® 18

Question Number : 18 Question Id : 62728918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IATa HEET 7 12 fAdsT 2014 #, 9Ra F WRuE F wg=o 324 R 172 (1) #R & gt
wfofaga, 1951 &1 amo & Ted gamT # faenes war gamEr $r gwor @ o

Options:

1 ® 14
> v 15
T B 16

4 #® 18

Question Number : 19 Question Id : 62728919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per the Annual Report 2014-15 of the Central Pollution Control Board, there were common bio-medical
waste treatment facilities/private agencies operational in Haryana.

Options:
1 W 11
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4 W 19

Question Number : 19 Question Id : 62728919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Feara gewur fAg=or @i @ arfis Rl 2014-15 F @, giamon A WA SHA-AfSeHe
Fofrse 39=R glaure/fash vefaar s o

Options:

2_%5
3%315

4 #® 19

Question Number : 20 Question Id : 62728920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The State Environment Protection Council of Haryana functions as
Options:

, « anadvisory committee

- w anenforcement agency
- » aregulatory body

4 % an environment court

Question Number : 20 Question Id : 62728920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g T =T 9oTE]oT H3eT0T 9ve, F T H FT F4T 2
Options:
v & Heger #Al

. % TH TS0 THET
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-« T @amaes g

4 % TF TUEIOT FOTATeT

Question Number : 21 Question Id : 62728921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The WYC Hydro Electric Power Station is located at

Options:

1w Yamunanagar

> % Faridabad
= % Hisar

4 % Jhajjar

Question Number : 21 Question Id : 62728921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Seegasdl (WYC) o fagga Trer & # T g

Options:

i W T

gwm
g_ﬁm

4w F

Question Number : 22 Question Id : 62728922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following places in Haryana is famous for leather work?
Options:

1 % Gurugram

> « Rohtak

- » Jhajjar

4 % Sirsa
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Question Number : 22 Question Id : 62728922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR s AT e A s s ar & Prafas &2

Options:

1. &8 2

- v Ugd®
aiﬁ 3IEE[I

4_&%

Question Number : 23 Question Id : 62728923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Golden Jubilee edition of the Sohna Car Rally was organised in the year:

Options:
1 B 2017

> % 2004
3 o 2014

4 % 2001

Question Number : 23 Question Id : 62728923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TET FR B fr =97 F9dr gEor B 9w e froag o
Options:

L % 2017

, = 2004
5 v 2014

, # 2001

Question Number : 24 Question Id : 62728924 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

All of the following are popular festivals in Haryana, EXCEPT:
Options:
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, + Chath Puja
o % legf

- % Guga Navami

4 # Kartik Cultural Festival

Question Number : 24 Question Id : 62728924 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frrafafea @t oo & ST o § =% oes
Options:

Lo T

g_ﬁm

IFIT FITAHT

z ® 2

, w IR AR Fgcad

Question Number : 25 Question Id : 62728925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

All of the following districts in Haryana are famous for terracotta, EXCEPT:

Options:
L% Gurugram

- % Faridabad

- % Jhajjar

4 « Sirsa

Question Number : 25 Question Id : 62728925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g & A=fefEa e e e & o it & =3 ois:

Options:

1 ® 2
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Question Number : 26 Question Id : 62728926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stroke is written upward in certain words to obtain a better outline.
Options:

, % UpwardR

- « Upward Sh

5 « Upward L

4 = UpwardH

Question Number : 26 Question Id : 62728926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stroke is written upward in certain words to obtain a better outline.
Options:

, » Upward R

o  Upward Sh

- » Upward L

4 % Upward H

Question Number : 27 Question Id : 62728927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Mp and mb is doubled to add a final
Options:
1 % Tr

QWNg
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= W Kr

4.« Er

Question Number : 27 Question Id : 62728927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Mp and mb is doubled to add a final

Options:
1 % Tr
o ® Ng

T W Kr

4. ¢ Er

Question Number : 28 Question Id : 62728928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

M and n are halved and to indicate a following d.
Options:
, = Lightened

> % Straightened

= « Thickened

4 % Doubled

Question Number : 28 Question Id : 62728928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

M and n are halved and to indicate a following d.
Options:
, = Lightened

> w Straightened

% « Thickened

4 % Doubled
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Question Number : 29 Question Id : 62728929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a vowel comes between |-d and r-d. a must be written.
Options:
1 « Full stroke

> % Double stroke
= % Half stroke

4 % Quarter stroke

Question Number : 29 Question Id : 62728929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a vowel comes between I-d and r-d, a must be written.

Options:
1 « Full stroke

- % Double stroke
= % Half stroke

4 % Quarter stroke

Question Number : 30 Question Id : 62728930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A straight stroke is doubled to indicate

Options:
; # FlLvlandthl

5 % Pr. br or tr
5  1b drorthr

4 % Frvror thr

Question Number : 30 Question Id : 62728930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A straight stroke is doubled to indicate

Options:
| % Fl. vl and thl
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- % Prbrortr
5 Tr, dr or thr

4 % Frvror thr

Question Number : 31 Question Id : 62728931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A large final circle represents
Options:

1 ® S

o o 565

= ® SW

4 % Z

Question Number : 31 Question Id : 62728931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A large final circle represents
Options:

1 ® =

o o 5es

= #® SwW

4 % Z

Question Number : 32 Question Id : 62728932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The S circle is written on the of the angle formed by two straight strokes.
Options:
1 % Inside

- % Left side
- w Rightside

4 « Outside
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Question Number : 32 Question Id : 62728932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The S circle is written on the of the angle formed by two straight strokes.
Options:
1 % Inside

- % Left side

- % Right side

4 « Outside

Question Number : 33 Question Id : 62728933 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Final S circle represents the word in a phrase.

Options:
1 # Is
> ® AS

= % Has

4.« Us

Question Number : 33 Question Id : 62728933 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Final S circle represents the word in a phrase.

Options:
1 # Is
> ® AS

= % Has

4.« Us

Question Number : 34 Question Id : 62728934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The word is contracted to stroke ‘P’ to form the phrase.
Options:
, w» Policy
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- % Happy

5 % Heap

4 Hope

Question Number : 34 Question Id : 62728934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The word is contracted to stroke ‘P’ to form the phrase.
Options:
, = Policy

- % Happy

5 % Heap

4 Hope

Question Number : 35 Question Id : 62728935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A small tick added to a diphthong sign represents a

Options:
. « Triphone

> % Diphone

5 % Lriple Vowel

4 % Double Vowel

Question Number : 35 Question Id : 62728935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A small tick added to a diphthong sign represents a
Options:
. « Triphone

> % Diphone

5 % Lriple Vowel
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4 % Double Vowel

Question Number : 36 Question Id : 62728936 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Upward is used after a straight upstroke.

Options:
1 ® W

2.% Y
z ¢ R

4 % H

Question Number : 36 Question Id : 62728936 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Upward is used after a straight upstroke.

Options:
1 ® W

2.% Y
z ¢ R

4.%1‘1

Question Number : 37 Question Id : 62728937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vowel "a” is represented by a heavy dot and is a place vowel.
Options:
1 « Second

- % First
5 % Third

4 % Fourth

Question Number : 37 Question Id : 62728937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vowel "a” is represented by a heavy dot and is a place vowel.
Options:
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1 « Second
> % First
= % Third

4 % Fourth

Question Number : 38 Question Id : 62728938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Words that end in or , however spelt, are written with a gad place heavy vowel.

Options:
1 « Ore orair

> % Our or air

5 % Rayorar

4 % Earorar

Question Number : 38 Question Id : 62728938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Words that end in or , however spelt, are written with a gad place heavy vowel.

Options:
1 « Ore or air

> % Our or air
% Rayorar

3

4 % Earorar

Question Number : 39 Question Id : 62728939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The diphthong is written in the first vowel place.
Options:
1 ® OW

o> 1
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4 % 00

Question Number : 39 Question Id : 62728939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The diphthong is written in the first vowel place.

Options:
1 8 OW

o o 1
3.%3

4 % 00

Question Number : 40 Question Id : 62728940 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The short form 1s turned on its side to form phrases.
Options:

1 & I

> o YOU

T R How

4 % Why

Question Number : 40 Question Id : 62728940 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The short form 1s turned on its side to form phrases.
Options:

1 & I

> o YOU

z R How

4 % Why

Question Number : 41 Question Id : 62728941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the option that rearranges the following shorthand to denote a proper sentence:

4

-, "
— ) —
2 =
| _— 3
A e —
» 4 |
.
B = - - | {_l B
—
L] LY
| o
—
. lll 5
5 - =
D e S 3 pm—

Options:
1 & A

E_QEE

2.« C

4 % D

Question Number : 41 Question Id : 62728941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that rearranges the following shorthand to denote a proper sentence:

4

-, "
— ) —
2 =
| _— 3
A e —
» 4 |
.
B = - - | {_l B
—
- LY
| o
—
. lll 5
5 - 4
D e p——

Options:
1 & A
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2. ¢ C

4.$$D

Question Number : 42 Question Id : 62728942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

e I~0 ;\-‘
A — =
B =
- e
D W x
Options:
1.v A
> % B
3. % C
4 % D

Question Number : 42 Question Id : 62728942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3

Select the right word from the options given below to fill in the blank.

M ~ L-J:' it

S

i S
B
" %
D N

Options:

1. A

> % B

z % C

4 % D

Question Number : 43 Question Id : 62728943 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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Select the option that rearranges the following shorthand to denote a proper sentence:

\ ¢

—y—

N —
.

Options:
1.¥ A

E.WB

Question Number : 43 Question Id : 62728943 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3

Select the option that rearranges the following shorthand to denote a proper sentence:

\ ¢

—y—

N —
.

Options:
1.¥ A

E.WB

Question Number : 44 Question Id : 62728944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

L S o
Yy )

D

Options:
1 & A

>« B
3. % C

4 % D

Question Number : 44 Question Id : 62728944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

o — o "lr.--_—

o x
A [ 4
B -
C
D
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Options:
1 & A

>« B
3. % C

4 % D

Question Number : 45 Question Id : 62728945 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

D vl

Options:
1. ¢ A

E_WB

Question Number : 45 Question Id : 62728945 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

—~— = —T A

& il b

D vl

Options:
1.¢ A

E_WB
3. % C

4 % D

Question Number : 46 Question Id : 62728946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select yvour answer from the options given:

Water levels are already rising on coastof  US state where  huge storm surge is expected.
Options:

1w the, the, a

5 % a,the, the

- % the a a

4 ® d, d, 4

Question Number : 46 Question Id : 62728946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blanks in the sentence below with suitable articles. Select yvour answer from the options given:

Water levels are already rising on coast of US state where huge storm surge is expected.
Options:
, « the, the a

> % a,the, the

5 % the, a, a

4 ® d, d, a

Question Number : 47 Question Id : 62728947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select your answer from the options given:

Wind gusts close to hurricane force are battering islands in Florida's south as Hurricane Irma is due to hit mainland
in coming hours.

Options:
, « the, the
> % 4 the

5 % the, a

4 B d, a

Question Number : 47 Question Id : 62728947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select your answer from the options given:

Wind gusts close to hurricane force are battering islands in Florida's south as Hurricane Irma is due to hit mainland
in coming hours.

Options:
, « the, the
5 % @ the

5 % the.a

4 ® d, d
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Question Number : 48 Question Id : 62728948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable preposition. Select vour answer from the options given.

Thousands of people the mainland are currently without electricity.
Options:
1 % In

> % under
3 o On

g w at

Question Number : 48 Question Id : 62728948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable preposition. Select vour answer from the options given.

Thousands of people the mainland are currently without electricity.
Options:
1 % In

> % under
3 o on

4 ® at

Question Number : 49 Question Id : 62728949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Select vour answer from the options given:

It has also been difficult to track down the fourth image. of people immersed in a canal, but it be found on a
website appealing for funds to help victims of the recent flooding in Nepal.

Options:
1 « can
> % would

= % shall

4 % must

Question Number : 49 Question Id : 62728949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blank in the sentence below with a suitable modal verb. Select vour answer from the options given:

It has also been difficult to track down the fourth image, of people immersed in a canal, but it be found on a
website appealing for funds to help victims of the recent flooding in Nepal.

Options:
1 & Can

- % would
3 % shall

4 % must

Question Number : 50 Question Id : 62728950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an ervor. Select the option that has the error:
Options:
1+« A harmful virus who

- % can cause devastating brain damage in babies

5 % could offer up a surprising new treatment.

, % foradult brain cancer, according to US scientists.

Question Number : 50 Question Id : 62728950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four paris as options. One of the parts contains an ervor. Select the option that has the error:
Options:
1+« A harmful virus who

- % cancause devastating brain damage in babies
- % could offer up a surprising new treatment.

4, % foradult brain cancer, according to US scientists.

Question Number : 51 Question Id : 62728951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonym of the highlighted word in the senfence given below. Pay affention to
the meaning of the highlighted word IN THE CONTEXT OF THE SENTENCE:

Perhaps the easiest way of becoming invisible is by being transparent and letting light travel completely through you.
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Options:
1 ® Lucid

o « Crystalline

5 % Opaque

4 % Vague

Question Number : 51 Question Id : 62728951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word IN THE CONTEXT OF THE SENTENCE:

Perhaps the easiest way of becoming invisible is by being transparent and letting light travel completely through you.
Options:
1 ® Lucid

5 o Crystalline
5 % Opaque

4 % Vague

Question Number : 52 Question Id : 62728952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word IN THE CONTEXT OF THE SENTENCE:

She was the perfect symbol of democracy. Highly intelligent. well-read, articulate and photogenic.
Options:
, w» Impeccable

- % Unskilled

5  Cormpt

4 % Immaculate

Question Number : 52 Question Id : 62728952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word IN THE CONTEXT OF THE SENTENCE:

She was the perfect symbol of democracy. Highly intelligent. well-read, articulate and photogenic.
CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3

Options:

, % Impeccable

> % Unskilled

5 Corrupt

4 % Immaculate

Question Number : 53 Question Id : 62728953 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, complete the following sentences using the appropriate collective nouns.

A of locusts attacked a of cattle that were grazing in the meadows.

Options:
|« Swarm, herd

- w flight, herd
- % band, herd

4 % mob, herd

Question Number : 53 Question Id : 62728953 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, complete the following sentences using the appropriate collective nouns.

A of locusts attacked a of cattle that were grazing in the meadows.
Options:
|+ Swarm, herd

- w flight, herd

- % band, herd

4 % mob, herd

Question Number : 54 Question Id : 62728954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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From the options given below, select the word that is the one word substitute for the highlighted words:

During the interview Krishna claimed to be an employee who could work well using both his hands.
Options:
1 % ambitious

> « ambidextrous

5 % adolescence

4 % anthropologist

Question Number : 54 Question Id : 62728954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, select the word that is the one word substitute for the highlighted words:

During the interview Krishna claimed to be an employee who could work well using both his hands.
Options:
1 % ambitious

> « ambidextrous

5 % adolescence

4, % anthropologist

Question Number : 55 Question Id : 62728955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has been spelt correctly to form a proper sentence:

In 1901-1902, excavations in the of Santa Priscilla, near the Cappella Greca, revealed a polygonal chamber.
Options:
, % Ccementery

> % semetry

5 % Cemetry

4 ¥ cemetery

Question Number : 55 Question Id : 62728955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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From the options given below select the one that has been spelt correctly to form a proper sentence:

In 1901-1902. excavations in the of Santa Priscilla, near the Cappella Greca, revealed a polygonal chamber.
Options:
| % cementery

5 % Semetry
« cemetry

=

4 Cemetery

Question Number : 56 Question Id : 62728956 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Nar e F EEr FIwurF . grEml
Options:

. P

2 v

5 % N

4.%‘3‘:ﬁﬁ

Question Number : 56 Question Id : 62728956 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rar seg F S FAVOTFT gl
Options:

.

2 v TTF

5 % T

4.%3{"%
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Question Number : 57 Question Id : 62728957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIF-TT ereg ‘FFATHT eeg FT IHISET FET 27

Options:

, » PBR=
o % 9T
4 v BT

Question Number : 57 Question Id : 62728957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT-TT ereg ‘TFATHT oreg FT IHTST=T T 27

Options:

, » A=
o % 9T
s % TR
s v PR

Question Number : 58 Question Id : 62728958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TT T HEr SOTEIT F 27
Options:

| S e R § ¥ 3w

, o F EE HEAFAT E, F Hemm g

- ThaT @ AT Rumaeare a3 FEa g

U & IEG AT Ao H AY @ 3 Al HI 3T FE gl

4 ®

Question Number : 58 Question Id : 62728958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Heud HT TET TTEAT FHT 872
Options:

| % S g T §, § 3T g

, v S e HEFEAT &, T 3T g

- w Tohar @ TR REmaare g 3T Fgad g

U & FE AT Aod H AY @ 3 UAl HI 3T FEd gl

4 ®

Question Number : 59 Question Id : 62728959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘o7lr o7 SeeT SR ¥ T R 9fFT F FiA-mr e gAfed 82
Options:

ki W =

5> ® THDP
2 ® J9AT

4@3%

Question Number : 59 Question Id : 62728959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

st oY sigeE ofF ¥ sem Ry 9T § Fie-ar seer gEifia §2
Options:

3, o TP

o % UHR
3 % J9H

4 % TOF

Question Number : 60 Question Id : 62728960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TEEEr oEE & FIA-OT TAT &7

Options:
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drg%q e [

Question Number : 60 Question Id : 62728960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TTEEr eE H FIA-GT FATH 27
Options:

| % FHYURT FATH
, o W] BHTE

AR w

drgﬂb\q e [

4 ®

Question Number : 61 Question Id : 62728961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

et aregt # @ o= e gem-
Options:

| P ST H el 38T & 99 8, S oFaeR B

. » SIS H THfeh SHFEAGR F & A ¢
5 ® Tea # 3w T & 339 £, 3 BFer 7

, % SR THed FE 3T g S TSAGR 2

Question Number : 61 Question Id : 62728961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=t aregt & @ = ey gem-
Options:
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| P ST H ool 34T &l 9dr g, S oFaeR 7l

. » SIS H THfoe SFAER F & A g
5 % o # =% 7 & 339 &, 3 TFFer gl

, « SR dEet JET 38T g ST SHER g

Question Number : 62 Question Id : 62728962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FeATEA & AIgHl S@HT 3T I el
Y@ HETaY &1 Fer 7 grem

Options:

| % FeHICH FT AFH @R AR gl

. v HcOed THe Bl
. TEEH AT S

o Tg &1 WY B S

Question Number : 62 Question Id : 62728962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SeATEA T AlgWl @Y 3T a5 el
Y@ifera HETEY &1 HEl AT g

Options:

| w SAeHICH T AEH TR AR Bl

. » HcUed FHeoA Bl
. T H IS

- g & W B e

Question Number : 63 Question Id : 62728963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘IO FE I FT TdEE g7

Options:

L w AR

5 % HEOT IH T

4w Ug T &

Question Number : 63 Question Id : 62728963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Icag T @ Fr e 27

Options:

L x AR

5 % HEOT IH F

Question Number : 64 Question Id : 62728964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TES U F IEANAT:

Options:

1, % HEA

g_utﬂ?{
g_wm

FTHA
49 3

Question Number : 64 Question Id : 62728964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TR EC F IEAIAT:

Options:
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1_&9@?
g_wtﬁﬂ'

S_QW

Question Number : 65 Question Id : 62728965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TJcOH e & UgHIAT;

Options:

1 ® ﬁaé-
zgm
T B ‘EﬂET

4.&%@?’”

Question Number : 65 Question Id : 62728965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

JcaH A I IgHNAT:

Options:

1.53@3'%
g_wm
g_wmgT

4_2@%

Question Number : 66 Question Id : 62728966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number that occupies the unit place in the product of 7285 x 3169 js:

Options:
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4+ 1

Question Number : 66 Question Id : 62728966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7785 X 316° 3 IUAHS H FHIS & TUA W HA el 7 ¢

Options:

1. % 7

Question Number : 67 Question Id : 62728967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Mr. Vishal was supposed to calculate the average marks of the class. While calculating, he accidentally entered 113

instead of 93, because of which the average marks of the class increased by g Then the total number of students in the
class is:

Options:
1. &0

g w 61

Question Number : 67 Question Id : 62728967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

#r. T #F UF FET & gg 3 B AT S F R I T un Ao g §HT 384 Tear 3
93#%%113%9%&33?&2&%333#%&#%3&3&:&% #r gy g 7| Fam &
Wﬁgﬁm%

Options:

1 v 60
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o B 65
z ® 63

4 ® 61

Question Number : 68 Question Id : 62728968 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The compound interest on ¥ 8,000 for 3 years at 5% per annum is double the simple interest on a certain principal for 2
years at 10% per annum. The principal amount is:

Options:

, ® $3,125.50

s » $3,512.50
5 T3,152.50

s THI02

Question Number : 68 Question Id : 62728968 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥ 8,000 # 3 a¥ ¥ AT 5% Fr AF T W Fe= e Torgfe wo=r v AfRas gaua « 10%
T X F 2 I H WIod g T HIURUT ST &1 R ¢l Horue @ T &

Options:

. % ¥3,125.50

, % ¥ 3,512.50
. v T 3,152.50

won T 318

Question Number : 69 Question Id : 62728969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Consider three numbers *X’, “Y", *Z" such that ‘X" and “Y" are 51% and 62% lesser than ‘Z" respectively. Then ‘Y" is
lesser than *X” by . (round to one decimal place)

Options:
1 ® 22.0%

o o 22.4%
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Question Number : 69 Question Id : 62728969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST HEAT X, Y, ZSHUER g O X AT Y Z A FAY 51% 3R 62% FA I A Y X @
FH §| (EIHT F T T T [Ulehd fham gaim)

Options:

L % 22%
o @ 22.4%
2 % 23%

L % 22.5%

Question Number : 70 Question Id : 62728970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the roots of the equation x* + bx + ¢ = 0 are two consecutive numbers of an arithmetic progression with common
difference of 2, then b2 — 4¢ =

Options:
1 ® —4

> o 4

Question Number : 70 Question Id : 62728970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁmx2+bx+c=0ﬁ?ﬂ§mﬁm2mum AL AufTr &r ar

FHAET TEOT &, ar b2 — 4¢ =

Options:
1 & -4

2 v 4

3.%2
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4 % —2

Question Number : 71 Question Id : 62728971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ms. Hema divides T 4.061 such that 2 times the 15t share, 5 times the 2°9 share and 3 times the 3™ share amount to the
same number. Then the value of the 1% share is:
Options:

1 ¥ < 1.965

, % 31,956
5 % 31,966

. x TL955

Question Number : 71 Question Id : 62728971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gAY, AT T 4,081 3@ TR Fsniorg w3 § B 9@ o Y 2 I, gEy S A 5 I i ey s
$T 3 7T ARG & AT FAT §| Ig FET H A AT SIS
Options:

v T 1,965
, % T 1,956
. » T 1,966

. % T 1,955

Question Number : 72 Question Id : 62728972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A flight has to travel between 2 cities *X" and “Y" that are 3,000 km apart. The flight was slowed down due to bad
weather. Its average speed for the trip reduced by 200 kmph and the duration of the flight increased by 30 mins. The
duration of the flight with the original speed would have been:

Options:
1 % 1.5hrs
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4 % 2.7 hrs

Question Number : 72 Question Id : 62728972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T FATE SR ¥ 3,000 fEer Fr g W Bud g g X AR Y F d= amr F A g1 o A &
FRUTEEE A P A e s S T g o Fr fga o F 200 FAEe HrarF i o &
TAT H 30 fAee &1 g€ &) 715 gaTs @ caRT 3He HA Aa ¥ UE g T A A oS drel HAA g

Options:

. % 1.5 ¢
- B Sﬁ%
- v 25 Te

4% 2.7 G

Question Number : 73 Question Id : 62728973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘X’ can finish a task in 15 days and “Y” can finish the same task in 30 days. They both work together for 5 days and
then *Y” leaves. The number of days that ‘X’ will take to complete the remaining task is
(Round to one decimal place)
Options:
, % 8days

o % 1.8 days

- % 1 days

4 o 1-5days

Question Number : 73 Question Id : 62728973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X TF HH F 15 A F AT FT Tear g, #HT Y 38 =7 F+ 30 T F gATT F mear g1 I
gt fAeet 5 6T #1H Fg § HR 36% 918 Y’ FH sl Iol AT ¢, ar X Z@RT AF Y H O
% forT ameege foal 1 FEar faa 8?7 (EFeT & T T d% Uit fohaT g3m)

Options:
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4 ?.5%?

Question Number : 74 Question Id : 62728974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a college laboratory. 2 beakers ‘X’ and “Y" contain 63.5% and 85.5% of spirit respectively. Two litres of solution
from beaker ‘X’ are mixed with 4 litres of solution in beaker “Y". The ratio of spirit and water in the resultant
mixture is:

Options:
169

1. w131

131

> ® 469

135

= ® 496

459

4 ® 135

Question Number : 74 Question Id : 62728974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TeF Flolt I AT & 2 dopg X AT Y & FA 63.5% T 85.5% fEufe &1 afg =y X' &
2 T fFeas & ST Y F 4 ey Roma # @f3m G s g, 8 oone =y grea s &
fEafte 3 9=l 1 e &
Options:

469
1.«~uf’“m

il
5 #% 469

it
= % 496

469
4 % 135

Question Number : 75 Question Id : 62728975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The marked price of a toy is T 600. A person bought it after 2 successive discounts of 5% and 10%. He further sold the
toy for T 675. The profit percentage he obtained is . (Round to one decimal place)

Options:
1 « 31.6%

> % 30.6%
3 % 32%

4 % 31.9%

Question Number : 75 Question Id : 62728975 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

v fele & 3fha Hea T 600 ¥1 v =ufad W 5% 3R 10% & 2 HAFE ol # g @led
T 98 38 T 675 F 99 &1 §1 38 @RI Hied ansF giaerd gl

(GRAFET F TF TAA TF Ol AT gam)

Options:

. v 31.6%

- % 30.6%

2 % 32%

4% 31.9%

Question Number : 76 Question Id : 62728976 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

A ball of 200 g is moving with a velocity of 5 m/s in a straight line. It is stopped by a force, acting against the direction
of the motion of the ball, in 10 seconds. The magnitude of the force is:

Options:
1« 01N

> % 02N
s % 04N

4 % 40N

Question Number : 76 Question Id : 62728976 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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200 TmH & UF g 5 Heydes F afa @ dnf T 7 afcw= g =@ 95 F afomaw g Fr e &
olg 9 o9t 10 WS H UHT T &) T ST A &

Options:

0.1 N (7Ie)

1.4

, » 02 N (=)

.« 04N (=)

o 40N &)

Question Number : 77 Question Id : 62728977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bullet of 0.01 kg moving horizontally with 72 m/s hits a 0.4 kg wooden block, which is initially at rest on a smooth
frictionless haorizontal table. The bullet does not come out of the block. The speed of the block after the collision is close to:

Options:
1 ® 0.9m/s

> o 1.8 m/s
= # 9.0m/s

4 % 18 m/s

Question Number : 77 Question Id : 62728977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

0.01 TFam &r v e &@fas & AT far &7 72 #eydss Fr a9 § 0.4 FFees & s &
e § T9ar ¢ S e uduRfgg gue @fas 3 97 3T B sEer # § e s e ¥ 9]
e fwordr &1 M § TFUS F 1 s H g ST 8

Options:
-« 1.8 Hey/Tss

4 % 18 HeydFs

Question Number : 78 Question Id : 62728978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The speed of a car of 1,200 kg is increased from 18 kmph to 36 kmph. The work done on the car (ignoring friction) is:

Options:
1 & 3.0kJ

o W 15 kT
T 30 kT

4« 45K7

Question Number : 78 Question Id : 62728978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1,200 freiRma #ir v FR Fr 7fa Fr 18 FarA/ge ¥ I 36 radRyTe & Jar g1 FR W
T 13 FE (90T S Fr AT F gv) g

Options:

. 3.0 forelr S
1. e

, 15 el S
ik L

30 forelr S

3 ®

45 fFer et
. W a

Question Number : 79 Question Id : 62728979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball of mass m falls from height h under gravity. Let ¥ and K denote the potential and kinetic energy of the ball at a
point at height x. When x = h/4, the ratio V7K is:

Options:
1 *® 1

2_%3

DI | e

S

Question Number : 79 Question Id : 62728979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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m FEAA FT TH 3G [TcaldyuT I & dgd h Fa15 ¥ e g1 7w @ifew x F=E w Vak
K feafast s 3 oifast 31 & q@ia® &1 59 x = A/4, & V/ K #1 359149 &

Options:
1 & 1

2_%3

w |

e

Question Number : 80 Question Id : 62728980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Consider a planet ‘X", Its mass is 1/16 times the mass of Earth and its diameter is half the diameter of Earth. The
acceleration due to gravity near the surface of the planet “X’ is approximately:

Options:

; % 0.61m/s?
> % 1.23m/s?
o o 2 AB MR

4 % 490m/s?

Question Number : 80 Question Id : 62728980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ffST ve 7w X g1 39 SeTAE A & FaAT 1 1/16 OT § R FHaT urH g F =
FT AT g1 ITE X F TAE F A TReaHuT T % HNUT a0l ST g

Options:

. % 0.61 HreyAFHs®
. % 1.23 Areyass’

_ o 2.45 MeyAFS?

, » 4.90 Hrerass’
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Question Number : 81 Question Id : 62728981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The colour of phenolphthalein in acidic medium is:
Options:
1 % Yellow

> % Pink
z « Colourless

4 % Blue

Question Number : 81 Question Id : 62728981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HFANT AT H SrArwd e FT T 8T &
Options:

1_%3%

CRIEL

o # 2

3¢ iHEéIEI

4_%3#'?’"-

Question Number : 82 Question Id : 62728982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The aqueous solution of the salt sodium acetate (CH3;COONa) is:
Options:
1 % Acidic

- « Basic
z % Neutral

4 % Amphoteric

Question Number : 82 Question Id : 62728982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AIfzTH vHee (CH:COONa) 90T &1 Fei T f&Feas 8 ar &

Options:

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 3

3_%37::@?
4 % JayTersHt

Question Number : 83 Question Id : 62728983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following metals cannot displace hydrogen from dilute hydrochloric acid?
Options:
1 ® Zinc

- % Magnesium

3 % Lead

4  Copper

Question Number : 83 Question Id : 62728983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ffafad & ¥ #i7 @ uIg 9 TREAIRE HF ¥ RS SEia JE@ T THar?

Options:

1_33%?
g_i@ﬂ?m
5 % o5

Question Number : 84 Question Id : 62728984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The type of chemical bond between metal atoms in a solid metal is:
Options:

, % lonic bonding
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> % Covalent bonding
- » Hydrogen bonding

4  Metallic bonding

Question Number : 84 Question Id : 62728984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fordly 3 urg & urg AT F €= TEEAEE T FH FHER A 8
Options:

| % HIOTA® g9
58 TEEAET 99
2 % ETSSISTe eI

4  Hlicash &eT

Question Number : 85 Question Id : 62728985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is the mass of one mole of chlorine molecules?

Options:
1 71 grams

4 R 7.1 grams

Question Number : 85 Question Id : 62728985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafof@a & @ Folia HupEt & vF A F gAT g7

Options:
i v 71 IH

. % 355 T
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- % 355 TTH

4 R 7.1 T H

Question Number : 86 Question Id : 62728986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following artists mastered and refined the art of playing the Mridangam?
Options:
, « Palghat Mani Iyer

> % Lalgudi G Jayaraman

- % Hariprasad Chaurasia

, % Brij Bhushan Kabra

Question Number : 86 Question Id : 62728986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fTafof@a d ¥ 9 FoR o Je7H7 T $T Fol H AgRA gae HI?

Options:

| TTeTETE HOT HTIRX

& aﬁqgérsﬁzaainmﬂ

2

5w BICTHIE SEET

Question Number : 87 Question Id : 62728987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which year did the Sepoy Mutiny. the First War of Independence, take place?

Options:
. % 1901

o o 1857
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s % 1922

4 % 1839

Question Number : 87 Question Id : 62728987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mﬂﬂmgﬁ,m‘mﬁ?ﬁﬁﬁmﬁﬁaﬂm ST %Waﬁgsﬂw

Options:

. % 1901

- v 1857
5 % 1922

L % 1839

Question Number : 88 Question Id : 62728988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

With which of the following countries does India NOT share its borders?

Options:
1% Myanmar

> % Bhutan

- » Bangladesh

e, Tajikistan

Question Number : 88 Question Id : 62728988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f=fef@a 7 @ FF gor & @y ag & @A 87 oerar 27

Options:
1 % FAAN
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Question Number : 89 Question Id : 62728989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the Union Budget 2017-18, which of the following will be set up to provide one-stop convergent support
services to empower rural women with opportunities for skill development. employment, digital literacy, health and
nufrition?

Options:

, % Mabhila Aarogya Kendra

> % Mabhila Shiksha Kendra
= « Mabhila Shakti Kendra

, % Mahila Vyavasay Kendra

Question Number : 89 Question Id : 62728989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FAT FC 2017-18 & FFAR AT ARG &I Hierer G, IR, Bfioes wwwar, =T ik
9INUT & HEW Yo WA & T Heataed d ¥ R 99-re aefes d9eddr 39 9 o §9 H
FuTig fasar SreeT?

Options:

| » AR AT g
o  Ffgem R &g
5 » HAfgeT AFT F
, » HEeT STEET &

Question Number : 90 Question Id : 62728990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the Constitution (Forty-second Amendment) Act. 1976, ‘SOVEREIGN
SOCIALIST SECULAR DEMOCRATIC REPUBLIC® was substituted FOR:

Options:

1 ® SOCIALIST DEMOCRATIC REPUBLIC
> o SOVEREIGN DEMOCRATIC REPUBLIC
=z % SOVEREIGN SECULAR REPUBLIC

4 # SECULAR DEMOCERATIC REPUBLIC
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Question Number : 90 Question Id : 62728990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

wiue (Faeraar wetee) JARfATs, 1976 & AR T FHE-Hhes GATSEE! qufATar
Arehd s R ¥ e wfarafa R s a2

Options:

| x TATSGE! ShdIcH® TR

- 8
; - CRLY)
> of '.:lajrd HYeed tlenddicHen VI

Hajrci-ﬁ'-in-f TTATIeT TURTST

=

4 % TUTPRYE FFdIcHF TR

Question Number : 91 Question Id : 62728991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following institution’s researchers have created the first quantitative global map of water and its chemical
building blocks trapped in the uppermost portion of the Moon’s soil?

Options:
, % Stanford University

-~ % Duke University

5  Brown University

4, % Yale University

Question Number : 91 Question Id : 62728991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T # ¥ &9 g & odtusarst F Iesar & B & gew Fof a9 # 6 I+ 3l
SHS TEaTaE AAT solie &7 gger sardsE INHAUTcHE ATATET ST 872

Options:

|« TaHs faeafaezrera
I & GRERSIECTIED

5 3 IEECIECRIEE?

, « Jo1 eafaezem
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Question Number : 92 Question Id : 62728992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who won the Wimbledon Championship 2017 under the ladies singles category?
Options:
1 % Venus Williams

o  Garbifle Muguruza

z % Serena Williams

4, % Maria Sharapova

Question Number : 92 Question Id : 62728992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tfger vaer Aot & T 2017 Fr Feesa SeaganT Faa Sdr
Options:

1 ® mﬁﬁm

o o
il FEIGL HITEAT

= mﬁﬁm
g = FI'I'ﬁ'ﬂTEW‘ﬂ':lT

Question Number : 93 Question Id : 62728993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is Alexei Shirov associated with?
Options:
1 % Cricket

> o Chess

5 % Hockey

4 % Lawn Tennis

Question Number : 93 Question Id : 62728993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

torrdr RRiE fAeafofaa # @ e @9 @ geftg 82

Options:
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, % fohere
E_JQW

5 % BT

4 ® dle o

Question Number : 94 Question Id : 62728994 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In 2017, which of the following artists was awarded the Padma Bhushan?
Options:

1+« Vishwa Mohan Bhatt

> % KJ Yesudas

%z % Sultan Khan

4 % Parween Sultana

Question Number : 94 Question Id : 62728994 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I 2017, # & FAR F I 0T TG HaT TAT AT?

Options:

| v T A SE
godia @

o R

4 W s

Question Number : 95 Question Id : 62728995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Bharatnatyam, which of the following persons is the one who conducts the dance recitation?
Options:
1 % Ilakiattam
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> « NNattuvanar
= % Mabharis

4 % Kalaapam

Question Number : 95 Question Id : 62728995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

STAATETH FJcd Jed & HaTeld hisl JTell chied FaT hgalldl g7

Options:

| » TARIEH
EIJEEEH'IT
- w FEIRHE

4 ® hell9H

Question Number : 96 Question Id : 62728996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a certain code, ‘FLOWER" is written as ENNZDV. Find how is ‘FOSTER’ represented in that code?

Options:
, v EQRWDV

, « EQRDWV
. « EQWRDV

, « EQDRWV

Question Number : 96 Question Id : 62728996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F1= 9w # ‘FLOWER’ %I ENNZDV & & & @r@r =ar 21 387 15 § ‘FOSTER' & &9 91X

orar Sree?
Options:

, v EQRWDV
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., « EQRDWV
- « EQWRDV

, = EQDRWV

Question Number : 97 Question Id : 62728997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the analogy.

Hand : Wrist : Watch ::
Options:
1 % Neck ; Head : Collar

-~ % Toe:Foot:Knee
z « Foot: Ankle : Anklet

4 % Foot: Shoe : Toes

Question Number : 97 Question Id : 62728997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR H O F

g1 ; Fells ; I
Options:

L » e AT FeR

A CUE A
. v U TEEr O

4 % 9T ST deT

Question Number : 98 Question Id : 62728998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options the word that has a similar meaning as that of the words on the right and left side of the
brackets.

FINAL (...) ULTIMATE
Options:
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1 % Dead
> « End
= % Finish

4 R Commencing

Question Number : 98 Question Id : 62728998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

feredl § ¥ 30 e &1 997 H{ oG HY FI58F & g AT F10 el & HT & FAH &N

FINAL (..) ULTIMATE
Options:

1 % Dead

" End

= % Finish

4 » Commencing

Question Number : 99 Question Id : 62728999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following options, when joined by each letter in the image as a prefix, forms a meaningful word?

H
D\‘
=
G
= /
S

Options:

1 % —ake

- 8 —ock

5 % —are

4 ® —ome
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Question Number : 99 Question Id : 62728999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 7 8 #iFgr tar Taeg & 50 T 39997 & ®9 & J2 99 W =y 7 Tuar 73 g3s 3Ew
TF TIAF IEET oS AT g7

H

D%{...)

M
C
R /

Options:

1 % —ake
> « —ock
z % —are
4 ® —ome

Question Number : 100 Question Id : 627289100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options the number that will fill in the blank in the below series:

5, 10, 15,25, 40, , 105

Question Number : 100 Question Id : 627289100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

few o7v Reredl & & 3§ T F TS T A A &7 5 Y@ F GIell FEE W AT

5. 10, 15 25,40, ; 105
Options:

1 ® 95
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o B 90
=z ® 75

4 v 65
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